      1.)   Two moles of amine reacted with acid chloride yields a/an                                     .  Why              are two moles of amine required?  

2.)    Reduction of amides yields                                                                                      .   

3.)    Nitro groups can be reduced to                  using                                                      .

4.)  Alkyl halides can be reacted with NaN3 to yield a/an                                      .  This reaction occurs through            mechanism.  These can be reduced to 
             form                                                 .
5.)   Alkyl halides can be reacted with NaCN to form a/an                                               .  This reaction occurs through              mechanism.  These can be reduced to  

  form                                                    .
6.)   What is the difference between the reactions referred to in questions four and five?
7.)  Amines will react with alkyl halides to form                                                            .  This reaction occurs through              mechanism.  This reaction is 
            called                                                                                                    .  Why is this   

            reaction considered non-synthetically useful?  What is an alternative to this reaction?

8.)   Draw the reactants, reagents, and products for a Gabriel synthesis.

9.)   Explain how you would form a diazonium salt.

10.)   The Sandmeyer reactions replace the diazonium salt with                                     .

11.)   The Schiemann reaction replaces the diazonium salt with                                     .

12.)  Halogenation of benzene through electrophilic aromatic substitution was only used to place a chlorine or bromine on the ring.  How can we place a fluorine or iodine on the ring?

13.)   List and give the reagents for the three steps of the Hofmann elimination.

14. )  The product of a Hofmann elimination is a/an                                    and the leaving group is a/an                                                                               .   

15.   The Hofmann elimination is considered a/an                                         elimination.

16.   What is special about the Hofmann elimination?

17.   List and give the reagents for the two steps of the Cope elimination.

18.)  The product of the Cope elimination is a/an                                          , the leaving group is a/an                                                                                 , and the intermediate is a/an                                                            .

19.)   What is special about the Cope elimination?            

